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THE DEB:

Sandra Landy

VERY carly in our bridue playing career,
we learn that not all suits are equal. Why?
Because majors need-aply wen wicks for
game but minors +h d eleven. And
because 3INT only necds nine tricks, we
often play in 3NT even when we have a
minor-suit fit — unless of course, slam is on
the horizon. So it is vastly more important
to locate our eight-card major-suit fic and
it’s usually a good thing at pairs if we miss
playing at the five level in our eight-card
minor suit fit,

Playing an opemng INT as 12-14, how
should we nd a balanced 1519 points
that is too pood for opening INT? OF
course, we have 1o open a suil and rebid in
no-trumps, unless a mapor swt it s
found. So which suit should we open with
two four-card suits? With both majors, we
open |'¥ becanse partoer will respond 14
holding four or more, making cerrain thar
neither major-suit contragt is missed.

But heres the 100-dollar queestion:
what do vou apen with one major and
ong minor suit? Call me simple minded,
and many do, but [ think it’s 2 good idea
ta open the major, the suit where 1
actually want to play and where the
strong hand will be declarer. Tinvestigate
the major first and if partner denies
four-card support, [ rebid in no-trumps.
‘That makes surc that the stronger hand
15 declarer in either the major suit or the
no-trump game, offering the best chance
of success,

Recently | played against a pair who
opened the minor, This was the deal:

& A2 * Q275
YKQ97 ¥ AIDRS
$# K913 73
& AKI0S & 04
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Don’t bid 4-card suits

up the line with a 4-4-3-2

Twao top players debate a hot bridge toplc. Tell us whose argument
has won you over by e-mailing the Editor at elena@ebu.co.uk

Their bidding went 1% — 1% - 3NT, which
failed on a diamond lead. Their inguest
augrgested that perhaps |8 — 14 — W
showed 16-19 points and four hearts.
True — but won't responder have every
right to take partner for an unbalanced
hand with more than four clubs?

Swap the spades and diamonds in
responder’s hand, so it is:

4 73
¥ AI0BS
$ 0975
& 54

Now responder replies 18 o 18, If

opener relids 1%, i it 100% forcing? Ts
opener really showing a batanced hand
with only fowr-card suits? Could it not be
i weaker hand with mare chabs than heas?
A jump rebid of 2% isn't the amawer, that
shows the strenpth, but surely denies a
balanced hamd. It must be best to open LW
and unless responder can raise heares, a
INT rebid says it all.

Responder might raise 1% to 2% on an
unbalanced hand, with only three hearts.
But opener can jump to INT over 2%,
asking responder w comvert to 4% with four
cards in hearts and to pass with only three.

Furthermore, opponents are not bound
to pass just because we open the bidding,
If responder bids | # over the opening L,
fourth player can overcall 14, or jump Lo 18
or even M. Doces opener double for take-
out! Or try an optimistic no-trump rebid?
Worse still, second in hand may bid spades
Dbefore partner has even had the oppor
tumity 1o respond. Would vou make a take
out double on responder’s hand, with just
7 poin? But it second hand overcalls in
spades, you would be able o bid 2% or 3%
if partner had opened 1% — you might
even streich 1o 4% i you had o,

All these problems disappear when vou
open the nmjor, which s where you want
to play if you have a fir. You may miss a
4-4 minor fit, but when is the last time vou
played in five or six of a minor?

Maybe, if you open |, you have to play
a forcing 2MT rebid by opener, thereby
making sure you describe both hands fully
and will find the major suit game when
you have a 4-4 fir. This might work but in
the process you will deseribe both hands
far too fully 1o your opponents, wha will
no doubt find it much casier o make the
best lead to any game vou bid.

If you already prefer munor to majer,
please keep playmg that system against
mve! Tt's much easier to defend against and
event gasier to drive you into the wrong
contract! But for those wishing 1o play my
methads, here they are.

My recommended system of apening
bids with 4-4-3-2 hands

& |NT shows 13- 14 points, With hands
of 15+ poins:

*  With four hearts and four spades,
open L¥. Unless partner responds
I, rebid in no-trumps. It partoer
has a long minar and tour spades, he
can introduce spades on his second
bid to emphasise the distributional
nature of his hand.

& With one major and one minor, open
the major. Even if partner responds
in the minor suit where you have four
cards, rebid i po-trumps. Except-
wonally, you may raise the minor if
opponents overcall and vou don't have
4 stopper i thewr s,

& With both minors, it matters less
what you choese, [ open 1# as only if
the auction becomes competitive will
we need to play in a miner and then
[ can rebid in clubs withour distor-
ing my shape,
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Bid four-card suits up
the line with a 4-4-3-2

Or vote by post (Editor, English Bridge, 23 Erleigh Road, Reading RG1 5LR).
Comments for publication (not more than 200 waords, please) are welcome.,

WITH 2 4-4-3-2 and 13-19 points, playing
a 12-14 INT, we all open 1% with two four-
card majors. This is to allow responder
room o bid 18 which we can then support,
With two four-card minors, it often does
not matter, but opening 14 is least likely to
cause a problem. If vou have a stopper in
every suit, you can rebid comfortably in no-
trumps regardless of which sust partner
bids. The same applies if you open 1%, but
then problems can anse if partmer bids vour
seeond st and you have an unguarded
outside suit. Consider this situation;

If you open |# and
Hand 1 partner bids 14, vou
. A3 can sensibly bid 34.
LA If you open 14 and
+ AK|& partner responds 24,
& K043 what do you propose?

You are much too

stiong for 24, but 48
will take you past 3NT, which mighr well
be vour best spor,

The same problem arises when vour
4-4-3-2 has a four-card major and a four-
card minor,

Imagine you pick up as dealer:

If you open 1 and
Hand 2 partner responds 24,
- AKTS vou have an casy 3NT
¥ EQ rebid o show exactly
952 19 pomnts. What if
& AK9E partner’s bid s 2487

Doy your jump to 3NT

and hide the club sup-
port? Or (if you can} rebad 2NT, forcing,
to show 15+ points and pass partner’s
raige Lo 3N TY You might easily miss a dam;

Layout 1
A AKTS & 473
YEQ ¥ AG2
#3537 * KO
& AK9E S 07654
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Is responder going to rebid over 3NT or
do more than raise 2NT to 3NT with such
a poor suit?

On the other hand, 35T might sull be
the best spot:

Layout 2
& AKTS & 042
vKQ Y
$ 952 *|5473
& AKIE & 043
If it goes 14 - 28 - INT vou are in good

shape, but if you opt for 18 - 2d - 38 you
are almest certainly going to be over
board, If vou do cheose 3NT, not anly
might vou miss a slamm, but 3NT could be
wWrong, oo,

Layout 3
& AKYS & 092
YKQ ¥ Aal42
952 ¢ 3
& AKDE & 0|643

You have an casy o6&, but if the bidding
starts 14 — 2 — 3NT is responder sup-
posed to run for fear that vou have an un-
guarded suit? For all responder knows, the
hands could be like this afier a 14 opening:

Layout 4
& AKTS a 0|2
Y KQ ¥ AB42
* AKSE * 3
4952 & 0643

Yo have nine tricks on top in 3NT, while
% might fail if you encounter a bad
trump break.

THE DEBATE

Ron Klinger

Matice how comfortable these hands are
if the opening is in the cheaper suit and
responder bids opener’s second suit. With
Hand 2, if opener starts with |# and
responder bids 14, you have a comfortable
raise to 48, With a couple of points less,
VoL can jump o J,

In layouts 1, 2 and 3, once opener starts
with 1% responder knows that a dub fir
exists, You might still end up in 3NT on
layout | rather than the excellent odb, bat a
least you have a chance to find the slam. In
laveuit 2, you will certainly armive in ANT
after a 14 — 3 giart, In layour 3, you will
definitely avoid 3NT after 3 148 opening,
whether Fast replies 1% ar oprs for a 34
splinter, Notice that West also has no
provlem if East replies in a red suir, After
1% — [ & or 1% — 1%, West can show the
spades and find the best spod thereatier,

Finally . . .

If you always open the cheaper suit with a
4-4-3-2, them when opener starts with the
higher suit and bids a lower suit later, this
will grerantes at least five cards in the suit
opened.

Layout 5
- K| & A013
¥ AKS64 ¥ o3z
*KOQ73 * A|GS52
& 7H & 43
West  North East South
1w Pass 2% Pass
T

If West supports diamonds, FEast knows
that West has five hearts and now the
partnership should reach 4%, =
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